TREREENRE

TEHEX Sy« LfE - FRA0 - 5 H & Bz B i & H
R & BB REAERE 1 (il 11X A) = 1
B A T = 1
5 JEVHIHA 25 T B 1586
15 JEVHIHHA 2= # 1586
BESEY) (R < ) JL it g k g 220692
/NELEYR HARA0T60mEL T BHA - TAY b BRES  AHS B t 123. 1
/NEUER HA51007120mBL T FEL TAY b SRS AR, R t 97.5
ANDIFEIA - ARHE A o m3 401.3
BEFEW) (R < 9°) &M 10kmE 7 RALH (10t2 7 R) [ 13
BEFEN) OR < 97) M 20kmE T RBUE (10t 7 R) 5| 10
B3 A 0 H6 0 AR+ A D) ha 1.2
G an = 1
BUEAHE T K 1
ORI ELE T (B%AK)  10cm W Lg2. 5mEh b AT ook BE%E m2 4395. 2
THER = 1
AT HEHFRL AL DI HIBAT 24T O & 1
[EREE: Y oV 1
mERE Ef = 1
R (EEF L) = 1
BIG BRI S B (KRG 1) = 1
i HE =X 1
Bl P = 1
TR = 1
R & R AE REAERE 1 (il H11XB) = 1
B A S T = 1
5 JEVHIHA 2= T 5 400




TEH XSy« LA - FlA0 - 5 H & By B i & H

15 JEVAIH A 2= i 400
BEE) (R < ) JL it g kg 55660
/NBLEYR HA5A0T60mEL T BHA - A b BARS  AHS, RS t 55.7
ANDIFEIA - ARHE A o m3 101. 2
BEFEW) (R < 9°) &M 10kmE KB (10t 7 R) ] 6
B3 A 0 H6 0 AR A D) ha 0.3
G an = 1
THER oV 1
AT HEHFRL Il - ORI BAT 217 5 & 1
[EREEE % X 1
mERE Ef = 1
R (EEF L) = 1
BUG BRI S (KRG 1) = 1
i L = 1
Bl P = 1
TR = 1
R & BB REHERE T Ca 8 11X A) = 1
PEFEALEE T =X 1
PEFEALEE T kg 61372
BESEY) ((RERA) S B E kg 61372
ANDIFEIA - ARHE A m3 76.7
BEFEW) (R < 9°) &M 10kmE 7 RALH (10t2 7 R) ] 7
SGan = 1
THER oV 1
AT HEHFRL Il - ORI BAT 217 5 & 1
[EREEE % K 1
mERE Ef = 1

R (EEF L) = 1




TEH XSy« LA - FlA0 - 5 H & By B i & H
BIG BRI S B (KRG 1) = 1
i L = 1
Bl P = 1
TR = 1
R & BB REHERE 1 Ca 8 H11XB) = 1
B A T = 1
5 JEVHIHA 25 T 5 1025
15 JEVAIH A 2= i 1025
BEE) (R < ) JL it g kg 142629
/NEUER HA51007120mBL T FEL TAY b BAAS AR, IR t 76.8
/NELEYR #1207 140mEL T AEL A b SRS ARHS, TR S t 65. 8
ANDIFEIA - AR A o m3 259.3
BEFEW) (R < 9°) &M 10kmE 7 RALHE (10t2 7 R) ] 15
B3 A 0 H6 0 AR+ A D) ha 0.8
THER oV 1
AT HEHFRL AL DI HIBAT 24T O & 1
[EREEE % X 1
mERE Ef = 1
R (EEF L) = 1
BUG BRI S B (G 1) = 1
i L = 1
Bly5 e P = 1
TR = 1
R & B REAERE T (1L X A) = 1
B A S T = 1
5 VA 25 T 5 965
15 JEVHIHHA 2= i 965
BESE) (R < ) JL it g k g 134280




TEH XSy« LA - FlA0 - 5 H & By B i & H
/NELEYR #1207 140mEL T AEL A b SRS ARHS, RS t 134.3
ANDIFEIA - ARHE A o m3 244.1
BEFEW) (R < 9°) &M 20kmE 7 RALH (10t2 7 R) ] 14
B3 A 0 H6 0 AR+ A D) ha 0.7

THER = 1
AT HEHFHR L Il - ORI BAT 217 5 & 1
[EREEE % K 1
mERE Ef = 1
R (EEF L) = 1
BB UGE T (K5 1) = 1
i L = 1
Bl B =X 1
TR = 1
— R PR =X 1
—RE A A oV 1
T k& oV 1
THEE LA 40 = 1
HASH oV 1




